H & 0l & AHS B Ml A

0248 =g 1 3 Leta SXIX2

A SXXE 0
2 NS A==

Rl XFAR S XA (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HimEE]
SXIX 21 10,354,727 9,401,710 953,017
= 1,144,500 1,187,325 N42,825
= 1,383,083 1,315,825 67,258
Al 2,610,997 2,613,954 N2,957
e 5,216,147 4,284,606 931,541
NN S=IE=PN 2,747,152 2,713,727 33,425
= 0 42,825 N42,825
z 42,825 0 42,825
Al 02,159 05,420 A3,261
- 1,802,168 1,765,482 36,686
KIS AR S XA 2,228,528 2,200,203 28,325
Al 846,959 850,220 13,261
T 1,381,569 1,349,983 31,586
KSASI SRIAIY et 20,406 20,256 150
203 2=l 5,260 5,110 150
03 A =T R=EH] 5,260 5,110 150
OFQAIM ZZ(SXIXAM)
1,300,000 1,300 1,150 150
Heq X+ K& 1,200 800 400
301 LELEN S 1,200 800 400
03 AR 2HHFS(XILH) 1,200 800 400
Oglef(8) Xt S=+3Hl, Aol
100,000+ 12 1,200 800 400
SHIOAMNSI X 23,020 8,740 14,280
301 LEENS 23,020 8,740 14,280
03 A2 E A0S (XILTHH) 23,020 8,740 14,280
LA AFZAH &bl
800,000& x20- 16,000 6,400 9,600
OSA DML G2 etXI=(54)
234,000 %30+ 7,020 2,340 4,680
SEAEISX2 29 930,451 917,268 13,183
Al 827,323 830, 140 N2,817
e 103,128 87,128 16,000
201 er2 3| 16,490 490 16,000
02 S3=4gHl 16,000 0 16,000
OSeAt=A2 Al =2l
16,000,000& 16,000 0 16,000
307 2IZtol ™ 913,961 916,778 N2,817
Al 827,323 830, 140 12,817
- 86,638 86,638 0
05 2ItRIE = 912,761 916,778 24,017
OSEAMIZX2 SAAL =& 46,414 50,431 24,017
o= 33,837,000 33,837 37,84 24,017
Al 33,837 37,854 N4,017




2A:
X XH -
o e

=aak

SXIX2 2t
INE=YNEEIE=PN
NS At2| S XA

S - BE - B9I(3H) - NRAY - BES 0] a0t ol H o CImE=E
10 Al ZXAIEHE 22X 1,200 0 1,200
OAM2IZXAIE H2Hl N2 (dE8H
300,000 +20 A x2E 1,200 0 1,200
Al 1,200 0 1,200
MNEIEXTAE & HEESRR EXRF KA 173,840 173,528 312
Al 19,636 20,080 AN444
- 154,204 153,448 756
301 LetEEZ 161,140 159,628 1,512
Al 10,136 9,380 756
T 151,004 150,248 756
14 JIEt2 43 20,272 18,760 1,512
OALIE XA E=1FH|
56,0002 362 20,272 18,760 1,512
Al 10,136 9,380 756
- 10,136 9,380 756
307 QI2HO| A 12,700 13,900 21,200
Al 9,500 10,700 21,200
- 3,200 3,200 0
10 AR S XAIEHE 22X 12,700 13,900 21,200
OMRIZXAIE SAHL XEE SXELIE
A& 12,700,000 12,700 13,900 21,200
Al 9,500 10,700 21,200
T 3,200 3,200 0
N SAH 243t K& 485,580 480,480 5,100
= 0 42,825 A42,825
s 42,825 0 42,825
Al 55,200 55,200 0
- 387,555 382,455 5,100
AESAHHE 29 466,392 461,292 5,100
= 0 33,231 A33,231
s 33,231 0 33,231
Al 55,200 55,200 0
T 377,961 372,861 5,100
307 212t01 & 465,582 460,482 5,100
= 0 33,231 233,231
= 33,231 0 33,231
Al 55,200 55,200 0
- 377,151 372,051 5,100
05 QI”tPIEZ 465,582 460,482 5,100
OSPANESAEH 29 209,704 294,604 5,100
o=23| 42,100,000 42,100 37,000 5,100
OXrASAH 2CIUIOIE KA (2Y)
75,139,000 75,139 75,139 0
= 0 33,231 233,231




A SXXE 0
2 NS A==

©el: NESA 2435 X (St &)
A -3 - SRA(3H) - HRAE - BES Ofl &F2H I3 A Hwusz

Fas 33,231 0 33,231

T 41,908 41,908 0

d= S ANESMEE It MHlA XTI 19,188 19,188 0

= 0 9,5%4 A9,5%4

Fas 9,594 0 9,594

- 9,5%4 9,5%4 0

307 lztol & 19,188 19,188 0

= 0 9,594 A9,5%4

[ 9,594 0 9,594

- 9,5%4 9,594 0

05 2IZtAE = 19,188 19,188 0

OXESAt 282 19,188,000& 19,183 19,188 0

= 0 9,594 19,594

[ 9,594 0 9,594

- 9,5%4 9,594 0

=JI2& 22 & X& 3,028,389 3,000,129 28,260

Al 1,161,960 1,161,960 0

- 1,866,429 1,838,169 28,260

S=E=HM S XE 2cl 3,028,389 3,000,129 28,260

Al 1,161,960 1,161,960 0

- 1,866,429 1,838,169 28,260

SZESHA & =)ESA Ad 2,977,967 2,971,467 6,500

Al 1,161,960 1,161,960 0

- 1,816,007 1,809,507 6,500

201 er=3| 4,000 700 3,300

01 At22t2lt] 4,000 700 3,300

O SANE FAE=4I 3,300,000& 3,300 0 3,300

203 HR=H] 1,000 800 200

03 A=A PR 1,000 800 200

O=F2AIH =X 1,000,000 1,000 800 200

307 212t01& 220,617 217,617 3,000

02 2B YAIHE A 98,266 95,266 3,000

OLgNERe 7Kg 14,000 11,000 3,000

ODYH Xt =5 X 7,000,000& 7,000 4,000 3,000

sSHA2ESNE 24 50,422 28,662 21,760

201 et ] 32,422 28,662 3,760

01 At 2teltl 10,620 9,360 1,260

Odet2at| 10,620 9,360 1,260

Q4L SHOI MH & 34

70,0002 = 18CH 1,260 0 1,260

02 S3=gHl 21,802 19,302 2,500

OAIE2EbBI= X 6,000 3,500 2,500




2A:

M 2p2E 222 L N
oo SRLECH S XY 22 (Shol: % 2)
SN - BE - SA(B) - NRAY - BES 0 & ol o HIRE2
ORE=TaR HIS S el
6,000, 0002 6.000 3,500 2,500
401 AlEHI LS| 18,000 0 18,000
01 Al 18,000 0 18,000
Y| Al9| IIASEI(GP) M2 HA
&5 6,000, 00024 3CH 18,000 0 18,000
SY=NA 29 301,147 250,040 51,107
2 15,000 15,000 0
= 122,339 97,300 25,030
Al 66,709 66,275 434
= 97,099 71,465 25,634
SY=NNAE 2 301,147 250,040 51,107
=2 15,000 15,000 0
= 122,339 97,300 25,039
Al 66,709 66,275 434
2 97,099 71,465 25,634
oI B2 EYD 75 L 2Y 6,390 6,190 200
203 @R E | 1,000 800 200
N ESSSEESTY 1,000 800 200
OFQA® =7 1,000, 0002 1,000 800 200
SoiE ¥EY SEAHIA XN 128,341 28,286 5
= 89,839 89,800 29
Al 9,251 19,243
2 9,251 19,243
201 LBt2 | 67,671 67,643 28
= 47,369 47,350 19
Al 10, 151 10,147 4
2 10, 151 10,146 5
01 AL 22| 67.671 67,643 28
O AdiZ2IAY 22|
67.671,000%! 67.671 67,643 28
= 47,369 47,350 19
Al 10, 151 10, 147 4
2 10, 151 10,146 5
301 Y BFHZ 60,670 60,643 o7
= 42,470 42,450 20
Al 9,100 9,006 4
2 9,100 9,007 3
N EEEERPEEIER EESTE)) 60,670 60,643 27
O Afeilzel Al 60,670, 0002 60,670 60,643 27
= 42,470 42,450 20
Al 9,100 9,006 4
= 9,100 9,007 3




A SXXE

M SYSAXNAL 2F
Chel: SIY=EXXAL 29 (SH9 H2)
S - BE - B9I(3H) - NRAY - BES il v ol H o CImE=E
LSAH S Atdl2elANY 2Y 69,416 68,564 852
Al 34,708 34,282 426
- 34,708 34,282 426
307 2I2t01H 69,416 68,564 852
Al 3,708 34,282 426
e 34,708 34,282 426
10 AlBISTIAIEEE2EHIEX 69,416 68,564 852
OLSA 58 AtdE2IMY 2Y
69,416,000& 69,416 68,564 852
Al 34,708 34,282 426
- 34,708 34,282 426
DEAL O & 2] MH 2E At 30,000 30,000 0
= 15,000 15,000 0
Al 9,000 9,000 0
- 6,000 6,000 0
201 LEH2 | 15,000 30,000 15,000
= 7,500 15,000 27,500
Al 4,500 9,000 24,500
- 3,000 6,000 23,000
01 AtR2t2l] 15,000 30,000 15,000
OLNSA ?IE8lE 328 7 2(¢==
eIMHIA 28 8) 15,000,000 15,000 30,000 15,000
= 7,500 15,000 27,500
Al 4,500 9,000 24,500
- 3,000 6,000 23,000
301 LEtENS 15,000 0 15,000
= 7,500 0 7,500
Al 4,500 0 4,500
- 3,000 0 3,000
01 Al EE A S (FRNEXA) 15,000 0 15,000
OLSAF 0l Atz 2012 &8 At X
5,000,000& 5,000 0 5,000
= 2,500 0 2,500
Al 1,500 0 1,500
- 1,000 0 1,000
OL=AL Ol HEREZ AE K& S
200,000& x40 8,000 0 8,000
= 4,000 0 4,000
Al 2,400 0 2,400
- 1,600 0 1,600
OS¢ DEA AIZ2e] X
1,000,000 x2=* 2,000 0 2,000
= 1,000 0 1,000
Al 600 0 600




2A:

SXIXIZ 4

u: sy=NNa 2
Chel: SIY=EXXAL 29 (SH9 H2)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A [ ImE=r",
| = 400 0 400
STS ADE SXOHE AHIA JHEDY HY XA 50,000 0 50,000
=
2 25,000 0 25,000
2 25,000 0 25,000
201 LEH2 S| 36,560 0 3,560
2 18,280 0 18,280
2 18,280 0 18,280
01 Al222IH] 30,360 0 30,360
024D &5 g2¢ 24 S
30,360, 0002 30,360 0 30,360
2 15,180 0 15,180
= 15.180 0 15.180
2 222 200 0 200
OB &5 L2C Hoj2e 1Y
200,0002 200 0 200
2 100 0 100
? 100 0 100
03 #AL2 | 6,000 0 6,000
OZ2NT &5 Y=2¢ ¥ o=oNy oer
s 6,000,002 6,000 0 6,000
2 3,000 0 3,000
2 3,000 0 3,000
301 LerEE3 13,440 0 13,440
2 6,720 0 6,720
2 6,720 0 6,720
TENEEIEE! 2,880 0 2,880
OZ2Hd &5 ¢2¢ 39, WS 34 oy
N 2,880,002 2,880 0 2,830
2 1,440 0 1,440
= 1,440 0 1,440
14 JIEHE A2 10,560 0 10,560
ZY B8 Y2Y =4y
10,560, 0002 10,560 0 10,560
2 5,280 0 5,280
2 5,280 0 5,280
NHABIOHRY 2% 29 3,249,257 3,250, 123 1866
2 1,129,500 1,129,500 0
2 1,217,919 1,218,525 £606
Al 480, 169 480,299 A130
2 421,669 421,7% A130
HEE SNSTAHA 1S 1,739,883 1,740,749 1806
2 1,217,919 1,218,525 606
Al 260,982 261,112 A130




2A:
X XH -
o e

=aak

SXIX2 2t
ASGA2 Y A5 2
A

of
o
BEHN AX=SXMHIA 7

S

S - BE - B9I(3H) - NRAY - BES 0] a0t ol H o CImE=E
- 260,982 261,112 A130
HFUEOISHZ XA 18,468 19,334 A\866
s 12,928 13,534 2606
Al 2,770 2,900 A130
- 2,770 2,900 A130
307 QI2tol A 18,468 19,334 866
s 12,928 13,534 2606
Al 2,770 2,900 A130
- 2,770 2,900 A130
05 QI”IRIE S 18,468 19,334 AB66
OHEENISAHAL XA A 18,468,000 18,468 19,334 AB66
= 12,928 13,534 A606
Al 2,770 2,900 A130
- 2,770 2,900 A130
AP 2L 187,954 184,401 3,553
QIA2HHI(SXIXIRD) 116,407 113,571 2,836
IR 2| 116,407 113,571 2,836
101 @I 4| 116,407 113,571 2,836
01 E= 107,890 105,261 2,629
OxUZR=E 107,890 105,261 2,629
OAIZ22R+H
12,8443 +35A| 2++20H 122 107,890 105,261 2,629
02 JIEtRE == 8,517 8,310 207
o=z 8,517 8,310 207
OAIRIL2R4E(AIZFEEADH 2t2)
10,4163 *35A 2Hx 1B+ 123 4,375 4,269 106
OAZIRA2RLY(AIZHEEAT R 012)
9,860 *3BAI2Hx1H 123 4,142 4,041 101
J1=22H(SX X1 71,547 70,830 77
JlE2Zl 71,547 70,830 77
201 ZEH2 & 26,837 26,400 437
01 AFR-2t2ltl 26,837 26,400 437
O=Z4 & X 800,000 800 0 800
OYx=z 2,397 2,760 A363
O= A Xz 199, 7403 1CH+ 122 2,397 2,760 A363
203 LR =&H| 7,030 6,750 280
01 J| 22 =8| 3,250 2,970 280
o=Xsa=2& 3,250,000& 3,250 2,970 280
HREs(SXIX2D) 837,538 0 837,538
SBEXE(SXXA1L) 837,538 0 837,538
SAlHIEXZEHe 837,538 0 837,538
802 Bt I} 837,538 0 837,538
01 I NEXILEZ 650,908 0 650,908




2A:

SXIXI& 4

M HRES (=XKL
gel: 2EXS(SAXAD) EEREE))
SA - Y- CR(3) - HIRAE - BES Ofl ko4 J| = ot HRE2
OSHE ADIE 2X oH& MHIA I 2a
N XISIAHS EIBHKboH 645,770 646 646
OSHE ADIE 2X oH& MHIA I 24
N KISIARSS 2HAHO| R} 4,850 5 5
02023 DSAF 02t L 202 AlEAIY A3
KtoH 4,374,700 4,375 4,375
02023 DSAF 02 & 22| AlHAIY 2
Ol Xt 169,310 170 170
020038 K= ASIAHIASERIAIY BS0IS
B 654,570 655 655
02003 K= ALS| AMHIASE XA & S RFOH
45,952,940 45,953 45,953
02003 K= ALS| MHIAEXIAIY ZHA40| K}
1,386,390 1,387 1,387
02023 HEADISHAXIAAIY ZEHEroH
5,020,000 5,020 5,020
02023 HEADISHURIAIS LA0| Xt
143,4202 144 144
02023 UASZR|RAAY RIS RHH
111,355,820 111,356 111,356
02023 LASZ XA LA0| Xt
3,250,860 3,251 3,251
02023 A2 ALY Zt2IAISH| ZIBHRHOK
937,370 938 938
02023 A2 AHYIZH2IAIEH] 2HAHO| Xt
14,050 15 15
O2023E SEIALHIZEI AL 20|t
68,2602 69 69
ONRBE SHE UAES SSAHIA XA
ZI8H Kbl 4002 1 1
ONBE SHE AEH SEAHIA ALY
2HAH 0| K} 4,140 5 5
O2023E 222X KIAALY EsHE o
445,037,400 445,038 445,038
O2023E 222X XIALY SHAHO0| X}
4,400,270 4,401 4,401
02003 MET|KIHIXIRAIY XaHxro
25,659,250 25,660 25,660
02023 MEX|IHI XA 20| X
309,2002 310 310
ORI S ALK AtOHE S &l RboH
97,500 928 928
ORI SAMR AGHES ZMO0| Xt
21,3802 2 2
OXFZARCIHI0IE{QI21H] 2A40| X+
559,0002 559 559
Al - SHIEXZEE2 186,095 186,095
OZSAIBI SN2 SYE X2 ZsHRrok
42,329,300 42,330 42,330




2A:

SXIXI& 4

M WRS(EXXAL)
gel: 2EXS(SAXAD) (S &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HnsZ
OZgARI=X2 2E8xa 2A0IL
16,800 17 17
OZEABISX Y BAIAL Z s zroH
13,6302 14 14
OARIZ XA E=1SH| 20| Xt
11,130& 12 12
OAMEISXAIESAHL XES=SXNEE &
e &Kol 6,500,000& 6,500 6,500
OMASXAILESAIA RXEFESXNELE &
AMO[ Xt 5443 1 1
ONASA HIAESAZASIAIY ZA0IXt
14,4002 15 15
OFCW3T 2YEEXZ3 LMOIXL
1,260% 2 2
02023 XISAZ AMBIAE XA 2H0IS
= 140,260& 141 141
02023 XIFGALS MHIAEXIANY &S &K
9,847,050 9,848 9,848
02023 XIAALSI MBIASEXRIAL ZEAO0[ X}
297,090& 298 298
020238 HEDISHZAEAG A
1,075,500& 1,076 1,076
020238 HUEDISHZRIJAAIY LA0[Xt
30,730& 31 31
O2023F LaSSRJAA T LtoH
23,861,960& 23,862 23,862
020238 LatSSAJA LU0t
69%6,610& 697 697
02023 1N=AH Ol & 22| AlgEAN &
£l 2,624,820& 2,625 2,625
02023 1N=AH Olgh X 22| AIBAY 2
OIXt 101,590 102 102
O2023F 1=A SHEE Atcll2tel Mg &
o 3,460,730& 3,461 3,461
020238 N=At XEE At Z2relAtY 20|
\; 21, 790& 2 22
02023 Al Atcll2tel At & el &l
468,690 469 469
020238 A2+ Atcll2telAtgd] 240( Xt
7,020 8 8
020238 SE At 2tel A Z0[ Xt
34,130 35 35
020238 S8s XEE SEAMHIA XZAHY
H gz 02 1 1
020238 SHES XEE SEAHIA XA
A0 At 890# 1 1
0202348 G =X|KIAAHY & Lok
55,629,670& 55,630 55,630




2A:

SXIXI& 4

¥ HRS(SAXEM)
celr 2EXE(SARE) (CH9: &S1)
A -3 - SRA(3H) - HRAE - BES Ofl &F2H I3 A Husz
o023 eSS KEAE L0
550,030 551 551
02023 St 2GS A Het &l
2,498,820 2,49 2,499
o023 Stte 2a=A 240[Xt
181,480& 182 182
020238 M X|AH| XNSAIS &l
17,089,060 17,090 17,090
02023 M XIAH| XIJAAY L40[R
205,930 206 206
OBHRBN Lol+g Duzo
16,980,000 16,980 16,980
OHSBI H0I4Y LHOIX
1,388,760 1,389 1,389
03 JlEtetet s s 535 535
02023 wW=Hl & 2 = A& SAIH
Ql2id| &N 534,340& 535 535




